K% 2@\ 3E EiE #¥SC
50m/N\32 T34 4LRE 217.170
100mNET 54 4LARM 1:01. 41

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RHERA 2 98



K4 #Ix< 5 FIE #¥ScC
50mEKE LR 37.22
100mBEKXKE JMLRE 1:22. 80
50mBHRF 41LRE 36.00

B 7L 1= I$IREC A 5]
ELERX Tk &

i
(1
ot

sk FH &®is

RHERA 213



KZ EHOME FIE #¥ScC
50mBHRF 41LRE 34.94
100mBMHK 4MLRBE 1:13. 91

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RRERAF: 4



Bt FE FiE #%SC
50mEKE LR 40. 54
50mBHE MMLRE 33.69

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RRERA R 3



A BE BE #%SscC
5 0m3EKE LR 42.97
50mBHE MMLRE 33.18

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RRERAF: 4



K& /P = FfE #¥SC
50mBHRF 41LRE K&
20 0mEAARL— 44LRE K&

Bt B RE
ST C &

i
P

&R FH W

RRERA k2



E2 &Il =X mE @#%Ssc
50mEKE LR 49. 28
50 m3EKE LR 56. 92
50mBHR MLRE 38. 28

B 7L 1= I$IREC A 5]
ELERX Tk &

i
(1
ot

sk FH &®is

BRERA b T



E® f#H BN BiE #%ScC
50mBHRF 41LRE 37.04

Bt FERRRLICHNTLERED
B CikW=EC EZFEELFET

k FPH &

RRERA k2



5 0mBmAF LR 34. 52

Bt FERRRLICHNTLERED
B CikW=EC EZFEELFET

k FPH &

RRERA R 3



&z EEE EH 9T EE_E ﬁ*%SC
50mBHER 4MLRE 32.12

1T00mEAAFL— 444K 1:24.09

B T= TR R HE RIS H L
SEREETikWECZ & %5

sk FH &®is

RRERA K 8



E® S £ BE @#¥ScC
50mB/BR LR 30. 63

Bt FERRRLICHNTLERED
B CikW=EC EZFEELFET

k FPH &

RRERA K6



5 0m3EKE LR 37.53
10 OmEKE 4{LRE 1:21.08
5 0mBHfE LR 30.18

B 7L 1= I$IREC A 5]
ELERX Tk &

i
(1
ot

sk FH &®is

RHERA 16



K& RNEFEXE BE @#%ScC
50m/N2 754 4LR 31. 31
50mBHE MMLRE 28. 82
100mBHRAK 4MLRE 1:03. 45

H3 1= [FFECEERRISH L
SEREETikWECZ & %5

&R FH

RHERA 28



K& #HE Xk BE @#%ScC

50m/N2 754 4LR 29. 29
50mBHE MMLRE 26. 94
100mBHRAK 4MLRE 58. 66

H3 1= [FFECEERRISH L
SEREETikWECZ & %5

&R FH

RHERA b 27



a = BE @#%ScC
10 0mIEKE 4MLRE 1:13. 39
50mBHE MMLRE 26. 65
100mBHRAK 4MLRE 59.50

B 7L 1= I$IREC A 5]
ELERX Tk &

i
(1
ot

sk FH &®is

RHERA 26



K& XB Xig BE @#%ScC
50mB/BR LR 26. 86
100mBHRHFE 41LRE 59. 35

H3 1= [FFECEERRISH L
SEREETikWECZ & %5

&R FH

RHERA 16



Ef XKIE & BE @#%ScC
50mB/BR LR 25. 94
100mBHRHFE 41LRE 56. 50

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RHERA 18



= g BE @#¥SCcC
20 OMBEIKXKE JMLREE 2:15.74
50mBHE MMLRE 25.74

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RHERA 18



K2 I #HE FIE #¥ScC
5 0m3EKE LR 43. 88
10 0mIEKE JMLRE 1:36. 95

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RRERA K6



E®2 [FHE #Eig BE #$ScC
50m/N\32 754 LR 33.70
10 OmEKE 4{LRE 1:22.50

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RRERAF 0



K tH Fih BE #¥SC
50m/N3 T34 44LiRME 21. 41
100mNET 54 4LARM 1:00. 06

B T= TR R HE RIS H L
SEREETikWECZ & %5

&R FH

RHERA 16



E®2 BHE #%kF BE #$ScC
10 0mIEKE 4MLRE 1:21. 41
20 0mIikE MLRE 2:54.63

H3 1= [FFECEERRISH L
SEREETikWECZ & %5

&R FH

RHERA 16



K& 2@ EE BE @#¥ScC
10 0mIEKE 4MLRE 1:13. 91
20 0mIikE MLRE 2:38.48

B 7L 1= I$IREC A 5]
ELERX Tk &

i
(1
ot

sk FH &®is

RHERA L 14



K4 @i £ BE #$ScC
10 0mIEKE 4MLRE 1:09. 97
20 0mIikE MLRE 2:32.94

B 7L 1= I$IREC A 5]
ELERX Tk &

i
(1
ot

sk FH &®is

RHERA 16



